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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed : 1x10=10
et SpiiR oore e T fo

(a) Analytic philosophy emerged as a
reaction against realism / idealism /
utilitarianism.

R T IR / SRR / TiRIfeRTS
Recm aifSfern Rorwer serer R0 |

( Choose the correct option )

( =7 Rewm Al Sferear )
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(2)

What according to Moore is the third
meaning of copula is’?

T WS AT T’ gor Aol {52

Who is the author of the book, On
Denoting ?

On Denoting JZYS (TS (F19?

According to Moore, “Common sense is
certain and universally accepted”. Is the
statement true?

T WO, MR & JAFoe W STHETTor
Tl 1 &R BfRECHT o 2

Give an example of molecular
proposition.

19T o9 «fo Twrzge e -

Logical positivism is also known
as transcendentalism / intuitionism /
scientific empiricism. ‘

o AOTIE WOIRAAM [/ WRsawRm [/
RS SSEORM FCHIS Gl Iy |

( Choose the correct option )

(&% Reshr ik Sfrear )
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( Continued )

(3)

(9) Molecular facts are constituted by
facts.

HRF SR IR T S |

( Fill in the blank )
( AR SR [T FT)

(h) Which of the following pairs is not
perfectly matched?

woTe i RPAR f¥e9® (st AT ARFeIT
fRet w2

() Language, Truth and Logic—
G. E. Moore

Language, Truth and Logic—
&2 W

(ii) Esse est percipi—Berkeley

Esse est percipi—3#fel
(i) Vienna Circle—David Hume

ez v—cofen f2ew
(iv) Logical Atomism—Bertrand Russell

H RNEA—AGe WE

( Choose the correct option )

( o= Rescer AR Tfaear )
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(4)

(i) Write the name of the book in which
Wittgenstein refutes his picture theory of
meaning.

THeERA g foqog o ved
SR AW fodn |

() “Language has many functions.” The
philosopher associated with this view is

‘R RiT ferm =R 1 ¥ TO0BR 5 wive
LiniCEr-TRewy

(i) Bertrand Russell

e I
(i) G. E. Moore

(LA
(iij) Early Wittgenstein
a8 BB
iv) Later Wittgenstein
RS TRHURIRA

( Choose the correct option )

(o= s Al Sferear )

2. Answer the following questions : 2%5=10
fRafeRe erpTyzs e fam :

() Why is Moore’s philosophy called
common sense philosophy?

T e et s v I
H?

A25/105 ( Continued )

(S)

(b) Write the name of two Cambridge
philosophers.

o S At w forn

() What is family resemblance?

NIRRT Sps 2

(d) What is ‘state of affair’ according to
Wittgenstein?

TIHCMBIRAR WO To o]IR’ WA 2

{e) What are the three types of symbol
according to Russell?

CE] o ooy a9 R R 2

3. Answer the following questions (any foun :

5x4=20
At apie et faan (R crem wifker)
(a) Write a short note on Russell’s theory of
Description. '
e IfAToGT ey «f 5 e foran 1

(b) How did Moore distinguish between blue’
and ‘consciousness of blue’?

Ve’ F AR ESA'T THFS I FCACI
o Aot SR 2
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(@)

(e)

(6)

Why do Logical Positivists try to eliminate
metaphysics from the domain of
philosophy? Give reasons.

S AR SRRWR ¥ AT cvae
*/1 PR FRAC B8 FC ? FRG 7oA |

Explain briefly Wittgenstein’s view on
private language.

THeoriER e S AT TS SRS
Rk i

Distinguish between direct and indirect.

verifiability.
AGTH F OAF OAEeR Too Y
Ao F1

Write a short note on picture theory of
meaning.

2 foqogs s «ft 5 O foran |

4. Answer the following questions (any four) :
10x4=40

fRafeRe erpiyza Bes fran (R e oifor) -

(@)

A25/105

What are the basic arguments employed
by Moore to refute idealism? Explain.

SRAME 99 IRAA Y@ IR|W T AR
AR R 2 =m0

( Continued )

(b)

()

(@

(e)

A25/105

(7)

What does ‘analytic’ mean in philosophy?
Why is analytic philosophy important in
contemporary  western  philosophy?
Discuss.

e ‘Roae e & @2 ke Ao
e Remiee ™ e R @1 W
HIceol 941 |

What is fact according to Russell? What
are the different types of facts? Explain.

IR Wo oy 7 R a9 oz B
R w1

What is logical atomism? Do you
consider it to be a sound philosophical
theory? Give reasons.

<& RW F 2 TS I T TS
31 of Reaot e 2 9 weefian o

Write an essay on the Vienna Circle.

Rz vt R 93 35471 foran 1

“The world is the totality of facts, not of
things.” Explain.

‘gerede (R OUR TIRN, I T IR
91
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(8)

(g9 How did Wittgenstein in his theory of
language game demonstrate the link
between meaning and use? Discuss.

SRR (7 MO BIHOMBIRH (Fe 9d e
AR TS T oAl SRERE 2 SEm
401

(h) Language is not one uniform thing but a
lots of different activities. Explain with
reference to Wittgenstein.

THI QA G AN IB AW [_e ey
femmeenoR TR | CheeiETe T *R wran
01

* %k &
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